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Q-1. Add these :  

1. T  O  2.  T O  3.  T O 

4  5   6 0   5 9 

 +   2  3  + 3 5  + 1 0 

      6  8   9 5   6 9 

       4.     T  O  5.  T O  6. T O 

     7  4   2 5   6 2 

 +  1  9  + 1 7  + 2 9 

      9  3   4 2   9 1  

Q-2.  Rahul has 54 Red balls and 32 Green balls . How many balls does he 

have in total ? 

Sol :    Number of Red balls   =    5 4 

Number of green balls = + 3 2 

                            Total balls =     8 6 

Q-3. A farmer has 65 cows and 21 goats . How many animals does he have 

in total ? 

Sol : Number of cows  =   6 5 

       Number of goats = +  2 1 

            Total animals =     8 6 

 



Q-4. In a garden , there are 70 Roses and 25 Jasmine flowers . How many 

flowers are there in garden? 

Sol : Number of Roses =    7 0  

    Number of Jasmine = +  2 5 

          Total flowers =         9 5 

Q-5. Riya has 39 Red balloons and 62 Blue balloons . How many balloons 

does she have in total ?  

Sol : Number of Red balloons =   3 9 

     Number of Blue balloons =  +  6 2 

                     Total balloons =     1 0 1 

 

 


